
ASSEMBLY INSTRUCTION MANUAL

MODEL NO: 
CAPRI1800

IMPORTANT:

Please read through the instructions carefully 
before assembly and keep them for future 
reference. 

Note:
Ready to Assemble



CHILDREN HAVE DIED FROM FURNITURE TIPOVER.

• NEVER allow children to stand, climb or hang 
   on drawers, doors or shelves.

• ALWAYS secure your television with an anchor 
   device or mount the television on a wall 
   (anchor device not included).

For a complete range of bracket options please visit:
www.tauris.com.au/collections/brackets



Congratulations on your purchase of a new Criterion furniture item.

To increase the longevity of your item, please follow these assembly 
instructions to save you time, make assembly easier and 
prevent possible damage to your new unit.
 
PLEASE NOTE:

• Correct assembly is your responsibility.
• We suggest the use of hand tools only to tighten screws and fittings, 
 as power tools can strip threads if over-tightened.
• When moving this furniture item, always carry the unit. Dragging or 
 sliding the unit could damage the unit and the floor surface.
• It is important to assemble the unit on a soft surface like carpet to 
 prevent damage. If you don’t have carpet, place a blanket
 down before starting.

CUSTOMER SERVICE:
Missing or Faulty Parts:

Please recheck the instructions and packaging to ensure the parts
are missing before contacting the store you purchased the item 
from. 

The store will need the following information:

• Copy of purchase slip or receipt.
• Model number of the unit purchased.
• Description or part number of the missing or faulty part. 
• Quantity of parts needed. 

If for whatever reason you cannot contact the store, please 
contact Criterion directly at http://www.criterionhome.com.au

Product of RVM Australia Pty Ltd

13 Merino Entrance 
Cockburn Central 
Western Australia 6164
PH: 1300 883 109



PANELS & PARTS LIST:
Please check you have all parts listed before 
you begin.

CARTON 1

QtyDescription Part #

X1A

X1B

X1C

X1D

x1E

X1F

X1G

X2H

X1I

X1J

CARTON 1

QtyDescription Part #

X1Right door

X1

L

X1

M

X2

N

X2

X2

X2

X1

X1

X1

Left drawer front 

Right drawer front 

Drawer side (Left)

Drawer side (Right)

Drawer back

Drawer base

Left decorative metal 

Right decorative metal

Legs

Top

Base

Left side

Right side

Left divider

Right divider

Component shelf

Cupboard shelf

Back

Drawer divider

O

P

Q

R

S

T

A

B

C

D

E

F

G

H

H

I

 J

 K

 L

 M
 N

 O
 P

 O
 P

 Q

R
 R

 Q

 S

 T

 U

 U

 V

 V

K Left door X1

U

V Back decorative metal X2



HARDWARE LIST:
Please check you have all parts listed before 
you begin.

Tools you will need (Not Included):
•  Phillips head screwdriver. 

PACK 1

X24Dowel1

2

3

4

5

 6

 7

 8

9

10

IMPORTANT INFORMATION:
• Max weight for a centre pedestal TV: 30kgs.

Max weight for a 2 foot TV: 80kgs.
Take caution when placing larger TVs on the unit. 

•
•

11

12

13

14

15

 16

17

18

Camlock

Quick Fit

Bolt 6 x 11mm

Screw M6 x 20mm

Screw M6 x 12mm

Screw 4 x 30mm

Screw 3.5 x 14mm

Screw 3.5 x 12mm

Runner set

Handle

Hinge

Shelf support

Bumper

Screw 3 x 18mm

Allen key M4

X22

X22

X10

X12

X4

X12

X24

X36

X2

X4

X4

X6

X8

X2

X4

X4

X1

Non-slip feet

Door bumper

Screw M4 x 12mm

Strap

Wall plug

Screw M4 x 36mm19

20

21

22

X2

X2

X2

X2



INSTALLING DRAWER RUNNER TIPS:

• Runners must be separated before assembly. 
• After separating the runner, set aside until needed for assembly.

Step 1
• Fully extend the runner.

Step 2
• Push the lever up to release the inside of the runner.

Step 3
• Remove the inside of the runner.

Runner

Cage
Mount

Lever

Runner

CageMount
Lever

Mount

QUICK TIP:
Make sure that when installing
the runner you are using the
correct holes.

Mount
Runner



INSTALLING CAM LOCK TIPS:

Quick Fit

• Tighten the quick fit until the shoulder is flush with the panel.
• DO NOT under tighten or over tighten.

Cam Lock

• When fitting a cam lock, ensure the starting position is correct 
    before connecting the quick fit.

• The quick fit head will then be
    in the center of the cam lock
    when the panels are joined.
• Turn the cam lock clockwise.
    

Shoulder

Panel Panel



STEP 1:

STEP 2:

9

9

9

9

9
9

J

10

 J

 J

3

9
3

9

9

9

9
9

R

3

3

3

10

10

E

F



STEP 3:

STEP 4:

3

3

3

3

3

3

3

3

3

3

3

R A

G

12

2

2

2

1

1

1

G

F

E



STEP 5:

1

2

2

1

1

 J

STEP 6:

1
2

2

2

2

2

B

1
1

1
1

1

1
1

G

F

E C

D



STEP 7:

STEP 8:

 I

4

4

4

4

4

4

4

4

4

4

1
1

1

1

1

1

1

4

B



STEP 9:

STEP 10:

5

5

5

5

5

5

5

5

5

 U

 U

Peel off the protective paper of the self-adhesive
and stick it to the position specified in the figure.

13

13

13
13

13

13



STEP 11:

STEP 12:

7

7

7

7

7

18

18

9
9

16

17
9

9

16
17

16

17

16
17

1617

 T

T

3

3
3

3
318

3
3

3
3

 M

 N



STEP 13:

STEP 14:

*

*

X 2

18

9

9
9

9

9
9

10

10

O

 P

X 2

2
2

2

O

 P



STEP 15:

STEP 16:

X 2

X 2

7

7

7

7

18

 R

 Q



STEP 17:

STEP 18:

11

9

9

9

18

 M

 N

X 2



STEP 19:

STEP 20:

14

1414

14

14
14

14

6

6

18

6

H

H

 T

S



STEP 21:

STEP 22:

8
8

8
8

8 8

8
8

12

12

12

12

9
9

9
9 1111

18

8
8

8 8

18

 K

 L

 L

 K



STEP 23:

STEP 24:

15

15

1515

21

20

21

20

21
20



Well done on completing the assembly of your new Criterion TV unit.

Please share how it looks in your space and tag us on: 

  @Criterionhome

  @Criterion

Our complete range can be found at 
www.criterionhome.com.au

 

STEP 25:

21
22

22
21

19

19

19

21

22



TOPPLING FURNITURE GUIDE:
WE RECOMMEND THAT A PROFESSIONAL INSTALLS THIS PRODUCT

Under Australian Toppling Furniture regulations all category 1 and 
category 3 furniture (over 686mm) must be secured to the wall.

All furniture of these categories are supplied with an anchor and 
a strap/cable to secure the unit to the wall.

Gyprock:
• Use a stud finder to ensure the strap is being secured into the 
    stud.
• Once you have secured the strap, connect this to the anchor 
    attached to the furniture.

Brick
• Before starting make sure that the anchor point is brick.
• Never anchor into mortar.
• Check your wall type and choose the wall plug accordingly.
• Once you have secured the strap connect this to the anchor 
    attached to the furniture.



ADJUSTING DOOR HINGES:

• Hinges come ready to install, though they can be adjusted to be
    sure that the foors sit square and flush to the piece of furniture.
• There are 3 screws on the hinge that can help adjust its position.

Inside screws:

• The inside screws move the 
    hinge in and out.

Outside screws:

• The outside screws move the 
    hinge left and right.

Up/down

In/outLeft/right



ADJUSTING DRAWER FRONTS:

• If the drawer front panel is NOT level after being assembled it 
    can be adjusted.

Drawer front panel

• Loosen the screws on the runners either side of the drawer, then
    you can move the drawer slide to adjust the drawer front.

• Once you are happy with the position, you can then tighten
    the screws to secure.

 Adjust the slide up or down

Drawer front panel



SURFACE CARE INSTRUCTIONS
A little care and attention will extend the life and look of your furniture.
Take care when using materials that might spill, be sharp or abrasive on 
the surface of your furniture.

GLASS CLEANING:
You may use normal glass
cleaning products on all
standard glass. Use a soft
cloth to remove light dust
and fingerprints.

NORMAL CLEANING:
For normal cleaning use a
soft, dry, clean cloth. In the
case of spills/stains use
warm water.

FROSTED GLASS CLEANING:
DO NOT use glass cleaner
or solvent-based cleaners
on the surface of the glass
that has a frosted finish.

VINYL CLEANING:
DO NOT use solvent-based
cleaners or any abrasive
materials. Only use a slightly
damp, soft, clean cloth on
this surface. Do not scrub.

CAUTION:
DO NOT expose to direct sunlight or
extreme temperature. This will result
in irrepairable damage and discolouration.



WARRANTY POLICY
1. Nothing in this warranty affects the consumer’s rights under the 
    Australian Consumer Law. The benefits to the consumer under this
    warranty are in the addition to the rights and remedies of the Buyer 
    under any consumer guarantees. The Australian Consumer Law 
    requires that we confirm that:

    Our goods come with guarantees that cannot be excluded under 
    the Australian Consumer Law. You are entitled to a replacement or 
    refund for a major failure and for compensation for any other 
    reasonably foreseeable loss or damage. You are also entitled to 
    have the goods repaired or replaced if the goods fail to be of 
    acceptable quality.

2. Subjest to Clause 1, the Seller warrants that CRITERION branded 
    products will be free of manufacturing defects and will perform to the
    Seller’s specifications subject to the following clauses.

3. The benefit of this 12 Month Warranty extends only to the Owner of
    the property in which the products manufactured or supplied by the
    Seller are installed and used by the owner for the duration of the
    Warranty period. 

4. If within the Warranty period a manufacturing defect is discovered in
    the product, or the product fails to perform to the Seller’s specifications
    as a result of some defect in the material or workmanship, then the
    Seller will replace or repair the goods under Warranty or refund the
    purchase price paid by the Owner. Except if the failure is a major 
    failure.

5. The Warranty does not apply to a product that:
    
         a) Has failed due to excessive wear.
         b) Has been misused or neglected.  



WARRANTY POLICY
         c) Has been damaged accidentally or by acts of God including fire 
             and flood. 
         d) Has been used or operated contrary to the operating or 
              maintenance instructions.
         e) Has been damaged in transit from the Seller’s store to the Owner, 
              either by the Owner or a third party authorised to act for the
              Owner.
          f) Was correctly accembled or installed. 

6. In order to make a claim under the Warranty, the Owner must provide
    proof of purchase in all cases. 

7. The Seller will examine any return products and if the Seller determines 
    that there is an apparent defect through no fault of the owner, the 
    Seller will:
         a) Make a note of the Owner’s contact details, including the 
              Owners telephone number which the Owner can be contacted
              during business hours, postal address and email address.
         b) Make note of the defect/s reported by the Owner.
         c) Take back the defective goods from the Owner and determine 
              within reasonable time through dialogue with the Owner whether
              the goods are defective.
         d) Advise the Owner within a reasonable time frame whether the 
              goods are defective. 
         e) If the seller accepts the return of the product, the seller must 
              arrange to have:
                     i) The product repaired or, 
                    ii) Replace the damaged or faulty product or, 
                   iii) Refund the purchase price

8. The Seller will not accept any returned product which has not been 
    returned strictly in accordance with this warranty.  
           



WARRANTY POLICY
9. For the purpose of this warranty:

         a) Australian Consumer Law means the law set out in Schedule 2 of
              Competition and Consumer Act 2010 (Cth).

         b) Consumer means purchaser of the goods.

         c) Consumer means a Consumer as that term is set out in Section 3 
              of the Australian Consumer Law.

         d) Consumer Guarantees mean the guarantees under the 
              Australian Consumer Law.

         e) Implied terms mean guarantees, conditions, warranties, or other 
              terms implied by an Australian Commonwealth, State or Territory 
              laws, (excluding the Australian Consumer Law) or the law of any
              other jurisdiction.

          f) Owner has the meaning set out in Clause 3.

         g) Warranty means this Warranty.
 
         h) Product means the Product/s bought by the Owner from the 
              Seller that fall under this warranty.

          i) Warranty Period means:

                 In relation to Furniture: 12 Months Limited Warranty.        
           


